() COSY:DEALS

3x4dm




»




»

ltem Qty ltem Qty ltem Qty
MN-01 | 2PC MN-8 | 2PC MN-10 | 2PC
MN-11 | 8PC MN-12 | 48PC+ || MN-14 | 43PC+
C?;Zon MN-15 | 1PC MN-16 | 1PC MN-17 | 8PC
MN-18 | 72m MN-19 | 15m MN-20 | 6PC
MN-09 | 2PC MN-29 | 30PC+ || MN-25 | 2PC
MN-26 | 5PC MN-28 | 12PC+ || MN-30 | 4PC
MN-02 | 1PC MN-03 | 1PC MN-21 | 1PC
Carton
2/4
MN-27 | 2PC ||MN-05-1| 1PC ||MN-05-2| 1PC
MN-04-1| 1PC ||MN-04-2| 1PC MN-23 | 6PC
Carton
3/4
MN-06 | 2PC MN-07 | 6PC MN-22 | 6PC
Carton
44 MN-13 | 7PC




»

TN

ltem Drawings Qty
MN-01 O 2
MN-02 @ ~ %3 1
MN-03 &= — %3 1
MN-04-1| (B o) -H@ glj 1
MN-04-2 @H. ! %] 1
MN-05-1 @ ' @ > 1
MN-05-2 @ ; ‘ @ . 1
MN-06 \ @ N 2
MN-07 E’j 6
MN-13 PC: 2890*530| 7
MN-21 @\@/ [ 1
MN-22 o 6
MN-23 — 6
MN-27 r 2




»

I
ltem Drawings Qty
MN-08 | <> 2
MN-09 2
MN-10 /Ms*so 2
MN-11 «®M6*16 8
MN-12 | ¢ g 48t
MN-14 %5.5*25 43+
MN-15 \ 1
MN-16 | > 1
MN-17 Ee M10*80 8

ltem Drawings Qty
MN-18 / 72m
MN-19 15m
MN-20 g M5.5*19 6
MIN-25 50*50 ?
MN-26 | To \igigg| 5
MN-28 1 & Ms.5%60] 2"
MN-29 %4.2*19 20t
MN-30 | »° veg| A




»

MN-09

MN-28

MN-01

MN-09 —

MN-01

—MN-28

MN-01

MN-9

MN-28

\NO




SRS . »

a MN-14
MN-05-2
MN-02 b MN-05-01
MN-03
C MN-06
1
MN-04-01/02

MN-03 | e=—r—m—r—mr— 1
MN-04-1] =——§& 1
MN-04-2| ———§& 1
MN-05-1 =—— | 1
MN-05-2 =—— .| 1

MN-06| =—— 2

MN-14 & 20




»

(S —

[ IR )




»

MN-22

MN-26




»

MN-14

MN-10




MN-04-1] =————=1&
MN-04-2 &
MN-14 &
0]
MN-11| ¢
M6*16
MN-03 &
MN-25 /"
|
MN-30 ©
* M6*16




»

10

b

Q0 I
; | B

W)

b

e

MN-16

\

MN-02

MN-16




»

A

N

i
’
.

<

)

11

MN-08 <:::>

MN-20 é M5.5*19




»

X0

MN-07

MN-18 / 36m

12




»

13

MN-12




»

MN-17

Pls measure the diagonal
size and make sure the
diagonal size keeps same
before screw 1B-21 mounte
If not, pls adjust it to same
size.

MN-17 EB 8




»

MN-18

N
i
Z
=

MN-18

O

MN-22

X6

15



»

MN-22

30

&

MN-22

MN-29

MN-22

MN-29

16



»

MN-23

b MN-23
\




»

d N-13







»

0cl

4000

066¢

o
AN



IRR———— N »

Carton
1/4

Item Drawings Qty
MN-01| E5 O 2
MN-8 S 2
MN-09 < 3 2
MN-10 _ M880 2
MN-11 «@ M6*16 8
MN-12 2  M8*20 48+
MN-14 & M5525 43+
MN-15 1
MN-16 1
MN-17 8
MN-18 72m
MN-19 15m
MN-20 [ M5.5*19 6
MN-29 57 M4.219 30+
MN-25 A 150750 2
MN-26 T M8*60 5
MN-28 “ M5.5*60 12
MN-30 2% M6*16 4




»

Carton
2/4

ltem

Drawings

Qty

MN-02

MN-03

MN-05-1

MN-05-2

MN-21

MN-27




»

Carton
3/4

ltem

Drawings

Qty

MN-04-1

MN-04-2

MN-23

MN-06

MN-07

MN-22

oo [N | O




»

Carton
4/4
ltem Drawings Qty
MN-13 PC. 2890*530 7




	UFL2单PC版棚说明书2024.6.1201
	UFL2单PC版棚说明书2024.6.1202
	UFL2单PC版棚说明书2024.6.1203
	UFL2单PC版棚说明书2024.6.1204
	UFL2单PC版棚说明书2024.6.1205
	UFL2单PC版棚说明书2024.6.1206
	UFL2单PC版棚说明书2024.6.1207
	UFL2单PC版棚说明书2024.6.1208
	UFL2单PC版棚说明书2024.6.1209
	UFL2单PC版棚说明书2024.6.1210
	UFL2单PC版棚说明书2024.6.1211
	UFL2单PC版棚说明书2024.6.1212
	UFL2单PC版棚说明书2024.6.1213
	UFL2单PC版棚说明书2024.6.1214
	UFL2单PC版棚说明书2024.6.1215
	UFL2单PC版棚说明书2024.6.1216
	UFL2单PC版棚说明书2024.6.1217
	UFL2单PC版棚说明书2024.6.1218
	UFL2单PC版棚说明书2024.6.1219
	UFL2单PC版棚说明书2024.6.1220
	UFL2单PC版棚说明书2024.6.1221
	UFL2单PC版棚说明书2024.6.1222
	UFL2单PC版棚说明书2024.6.1223
	UFL2单PC版棚说明书2024.6.1224
	UFL2单PC版棚说明书2024.6.1225
	UFL2单PC版棚说明书2024.6.1226

